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int id;

char name[20];

int kokugo;
int suugaku;
Int eigo;
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struct student{

int id: [/BEES
char name[20]; //EE%

XN int kokugo; YVAESE=Tp)=¢:
int suugaku; //;&%035
int eigo; //REED

b

struct student taro;

ry 4

struct student T taro EVVODZTHHOTEEINT
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struct student taro; BSADOTHICEE
struct student jiro; RATDBEEICIE
taro.id=10; BISHRDBR.EHE
strcpy(taro.name,"Yamada");

taro.kokugo=100; EVNDKRDICHULNE
taro.suugaku=85; IC.Z2ANTEL
taro.eigo=60;

jiro=taro; BErRZRAT DL,
jiro.id=11; BSARDERE I NT
strcpy(jiro.name,"/REB"); MRASND,

jiro.kokugo=99;
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void print_student(struct student s){

printf("HFEES : %d¥n",s.id); SROBI-S
printf("EK%:%s¥n" s.name); - SO
printf("[E5E:%d¥n",s.kokugo); BERDERI. RS
printf("Z4Z: %d¥n" s.suugaku); o .
printf("55E&:%d¥n",s.eigo); ét’\jd:jl‘-%“t—
IC.ZANTEL

printf("&&t:%d¥n" s.kokugo+s.suugaku+s.eigo);
printf("¥n");
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#include <stdio.h>
Int main(void) {

Char St|"[6] — {IMIIIAIIIRIIIIIIIOII|¥O|};/

printf("%s¥n",str);
return O;
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strcpy(taro.name,"Yamada");

- P I DB Inamel
YamadaZziWA I D

name[0]="Y";

name;1; ='a’; FE

22?@% :C—T strepy £ 5 ST

name[4]="d"; 00 2 ADIEDHIC

name;S; ='a’;

name[6]="¥0" #include <string.h>
EENTRL,
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BARRICEDSE,
char str(20]
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E5&:100
FFRELULTROEKDICHDITDXIDIC £15:85
JOTSAMAEEL, %5%35
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KZ:8)l
F55:82
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#include <stdio.h>
#include <string.h>

struct student{
int id;
char name[20];
int kokugo;
int suugaku;
int eigo;
+honda,kagawa;
void print_student(struct student s);
int main(void){
honda.id=10;
strcpy(honda.name,"4&H");
honda.kokugo=100;
honda.suugaku=85;
honda.eigo=60;
b
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kagawa.id=11;
strcpy(kagawa.name,"&JII");
kagawa.kokugo=82;
kagawa.suugaku=73;
kagawa.eigo=63;

print_student(honda);
print_student(kagawa);
return 0; }

void print_student(struct student s){
printf("HFE &S : %d¥n", s.id);
printf("EK%4:%s¥n",s.name);
printf("EE: %d¥n",s.kokugo);
printf("£XZ: %d¥n",s.suugaku);
printf("5558:%d¥n",s.eigo);

printf("&35t: %d¥n",s.kokugo+s.suugaku+s.eigo);

printf("¥n");
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struct student data[]={
{10,"Yamada",100,85,60},
{11,"Sato",85,95,80},
{12,"Takahashi",72,68,78},

b

WS ADECHIDRIHAE




wE (2)

W, ik SBO3ADEREBESEREZECHD,
SR ZBAIC U TCRDKRDREBRZH DT D,

HEES:10 HFEHFS:11 LHEHS:12
K2:WWH K2 i K&Z:5%
E3E:100 H355: 85 FHEE: 72
=85 #HEF: 95 HE: 68
%zE:60 %HsE: 80 R:E: 76
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#include <stdio.h>
#include <string.h>

struct student{

int id; //HEES
char name[20]; //K%&
int kokugo; //EFED =%
int suugaku;  //BFEDRE
int eigo; [/ REBDRE
ri
void print_student(struct student s);
struct student taro;int main(void){ /*
int i;

struct student data[]={
{10,"Yamada",100,85,60},
{11,"Sato",85,95,80},
{12,"Takahashi",72,68,78},
b

for(i=0;i<3;i++){
print_student(datali]);
»

return O;

by

void print_student(struct student s){
printf("HFEES 1 %d¥n",s.id);
printf("K%&:%s¥n",s.name);
printf("[E3E: %d¥n",s.kokugo);
printf("£X%: %d¥n",s.suugaku);
printf("5258: %d¥n",s.eigo);
printf("&

£T:%d¥n",s.kokugo+s.suugaku+s.eigo);
printf("¥n");

by
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« scanft
XFDAD HFDOAD
char c[20]; int a;
scanf("%s" &c); scanf(“%d" &a);
printf("%s",c); printf(“%d",a);
* gets
XFDOAS HFDAND
char c[20]; char buffer[20];
gets(c); int a;
printf("%s",c); gets(buffer);

a=atoi(buffer);
printf(“%d",a);
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char name[256];
int age;

scanf(“%s",&name);
scanf(“%d" &age);

printf(“ K& :%s¥n” name);
printf(“£F#n: %d¥n”,age);

char name[256];
char buffer[256];
int age;

gets(name);
gets(buffer);
age=atoi(buffer);

printf(“ K& :%s¥n”, name);
printf(“£Fikn: %d¥n”,age);
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